EARAROBEEIERT — 2 N— IBISH —F

201455860 () 2mfntE2H

PR EmNEE C1C2 5%

‘ [Riz] & ‘ [REBE] — | & (%) 1800M THE

[A&E£] 17 :1,200,000  ~ 23 :360,000 37&:216,000 3

4 75 144,000 B 5 3& :120,000 M

B ®RB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N . FEHE .55, 65— . — iz (1)
Y BEEEEI =P o4 & 1(5_5)6 6-6-5-3 | 39.6 1 :1_75) e
R:T5v 84K BihgUZXk J—HrIr—L
— s S s i) :55. =)= . - =AB— (&)
2 10/=>/7>7>=I i B 57.0 1(15/52)7 2t | 40 6 ?_753) TEER
R:yPKYIYXIZX B:F RS 455
. 2 44 | AlEE 1:55.8 3-3-3-4 | 40.0| — 8 450 | ZEEE ()
N 4 | NI LAY — 57.0 (7€) (-q) | PABE
R:A=TXf x4 B LAY —/IN—=/XX [T et
— s el FHat : 86— - migk— (1)
el 7o 7 CERET e R -
R:TITRAFTEN BTFAXE1—FT1— FRE%RS
e AP i o5 | SEHER 1:55.8 9-9-9-9 [38.7| — 10 | 446 |LIEZZE (k)
5/7|g| Y~¥=>7LvY 57.0 (745%) 43 | LR
L:8=/¥LLy b BiYT=CTU—F SRS
. A== :56. —-4-4- . — KEHHEE (fE)
6 7| Ay 55718y = G 1(5;)2 AR R ’ (‘?22) BEARR
R:YPRYIYRIRX B:A—V—KRLy oA (B) #HAEI-FKL—Ya>AE77
. RN JI| B IEAER : ~5-6- - NIBEST (#18)
71719 AR A VA WAV # 5 570 (11516/24> 5-5-6-7 | 40.3 2 (4133) ,:':.:Eaﬂ%:fg
Lk TA4 RTXIL B HIN—IL HET77—L4
9 S = P ] : —7-8- — hnEEss—  (J11iE)
8 3| TV KT £ 4 ol 1.(557).4 7-7-8-8 | 40.8 7 ?—S:; el
R TA MY B:TTI9T Ry — L4 FH T
. 4 6 | EEESIC 1:58.3 10-10-10-10| 40.4 | — 11 507 | EEHPB (A
9 6 Tt 57.0 (4) -7 EHES
LT N=—Hr b= B:TN—TzUIT B E
e O H— 4 5 | WHAFX 1:58.5 11-11-11-11{ 40.0 | — 9 409 | FIUER (E)
100111 |Yvya>a—-n 55.0 ) (-p) |AHIES
L:ALNTyTILE B:TAILt—H EEERS
R 5 :58. -1-1- . — REEEAR (MHE)
1l5]5| IRXETIN= b 75 ) e @ﬁ e 4.0 ! g [ L0
LT v IRy N BT T AR W %
@ 1 — S —EBlIEf
13=7r= 5,10,4,7,9,2,3,11,8,6,1
2= = 5,10,4,7,9,2,3,11,8,6,1
Gal=5r= 5,10,4,7,2,(9,11),3,8,6,1
40—+ — 10,5,2,4,7,11,9,3,8,6,1
[ N3
BB 2 290H 714K 2-10 820M % E 2-8 820M 3EHE 2-4-10 9,580
8 B 2 170 2-4 920M B 2-8 1,360 K31 2-10-4 37,600
10 250M 4-10 1,890M B E 2-10 1,920/
4 330H B H 2-10 2,990

ABICOVWTRDTEEERROODE. TR LIV,




